= o
A & 0l & AF 2 E A A
20209 &= =0l &t LBt AE =X
SN MESXD
M MATNEASA(SWSSL/AY - ME)
ool MEBFSY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At =X 30,620,124 22,136,815 8,483,309
= 4,701,387
s 1,412,000
< 4,632,058
Al 19,874,679
MEXNEASH (sSHLra/LdH - AE) 21,366,091 14,994,485 6,371,606
= 3,656,387
s 1,412,000
< 4,070,558
Al 12,227,146
MNEHEH2H 2,987,211 2,197,246 789,965
= 661,505
< 262,485
Al 2,063,221
SHEHELY E= 12,400 8,400 4,000
= 5,600
< 2,040
Al 4,760
402 RI2HXt20l ™ 12,400 8,400 4,000
= 5,600
< 2,040
Al 4,760
02 2IZt 2 AL EZ (OIS ) 12,400 8,400 4,000
OUEHIOIQIIA(SHEIELdH B3) 12,400
= 5,600
< 2,040
Al 4,760
ARSI Y 606,223 770,188 A 163,965
= 238,657
S 110,268
Al 257,298
201 24l 10,800 12,888 A2,088
< 3,240
Al 7,560
01 At 2t 2l 10,800 12,888 A2,088
Oget=gHl 10,800
—JUEFEXN BE= 10,800
< 3,240
Al 7,560
402 2I2H X201 M 595,423 757,300 A161,877
= 238,657
< 107,028
Al 249,738
02 QI EAILSEZ (01X S) 595,423 757,300 A 161,877
OLMESENETAHAEZAIE 506,620
= 203,063
< 91,067
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Al 212,490
OgLE I3 78,826
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< 14,168
Al 33,063
ORSI|EX&A 9,977
= 3,999
< 1,793
Al 4,185
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= 3,292
< 1,481
Al 3,456
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= 3,292
< 1,481
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02 QI EAISEZ (OIS ) 8,229 24,678 N 16,449
ogdts &=3t 8,229
= 3,292
< 1,481
Al 3,456
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Al 260,987
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Al 149,526
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Ot RS AT (M) 356,012
2 142,404
< 64,082
Al 149,526
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el

NEE
NERRASE (SYHSL/LY - ME)
NEEEES

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OgLtE SAL 400,000
OHIHA S22 28,000
O%=Z At &M 40,000
OUFELIHEH 50,000
OSg7(BHH)EES 200,000
04 QIZFHALAIH B = 3,000 3,000 0
ORM202 AZ2M HAl= 3,000
401 AIEHI L 2] 22,000 30,000 A 8,000
01 A& Bl 22,000 30,000 A 8,000
O&XIoI 2L FHl 249 22,000
402 BI2FX=20| M 100,000 100,000 0
01 2I2EH 2 A B (KM ) 100,000 100,000 0
Ogdts MMuRSEHI 100,000
CH==RH & At 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OXM122 H==H At 20,000
TEZ U LS T 22l 1,292 0 1,292
=2 902
< 117
Al 273
402 RI2HXt20l M 1,292 0 1,292
= 902
< 117
Al 273
02 2IZI 2 AL EZ (01X TH ) 1,292 0 1,292
ORJIEHZE 1,292
= 902
< 117
Al 273
Mg FIEtE = 4,538,354 3,177,604 1,360,750
= 1,317,926
s 312,000
< 661,567
Al 2,246,861
ZHEEY =8 89,600 0 89,600
= 36,000
< 12,060
Al 41,540
401 A& HIZ 201 I 89,600 0 89,600
= 36,000
< 12,060
Al 41,540
01 A& HI 78,100 0 78,100
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OZx#(20ha) 78,100
= 29,200
< 10,650
Al 38,250
02 2eltl 10,500 0 10,500
OZx¥(20ha) 10,500
= 6,300
= 1,260
Al 2,940
03 Al S THHI 1,000 0 1,000
Oox¥g 1,000
= 500
< 150
Al 350
22U =¥ 125,150 0 125,150
= 22,725
< 30,727
Al 71,698
401 AIEHI L 2 CHYI 125,150 0 125,150
= 22,725
< 30,727
Al 71,698
01 A& HI 125,150 0 125,150
OZxg(17ha) 125,150
= 22,725
< 30,727
Al 71,698
OIS HZ =8 44,000 0 44,000
= 22,000
< 6,600
Al 15,400
401 Al HIZ 201 I 44,000 0 44,000
= 22,000
< 6,600
Al 15,400
01 A& HI 44,000 0 44,000
OZx¥(2ha) 44,000
= 22,000
< 6,600
Al 15,400
S3AE IR D] 289,026 150,504 138,522
= 145,588
L3 42,344
Al 101,094
101 14l 257,178 139,960 117,218
= 128,589
< 38,580
Al 90,009
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O&g ol A =& EH(6Y) 121,668
60,834
18,250
42,584
O=2t1J HES(5Y) 113,200
56,600
16,980
39,620

= M W = HnH

=z W

201 L Et2A | 14,098 3,594 10,504
7,049
2,114
4,935

= W

01 At 2teltl 9,000 1,288 7,712
OAt22t el 9,000
— =R ES 9,000
4,500
1,350
3,150
]l 5,098 2,306 2,792
& Hl = Xl 5,008
FR I ZHl =2 4,398
2,199
659
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—YEEIAHEH 282 700
350
105
245
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= 0 W

206 M= Hl 10,000 5,000 5,000
5,500
1,650
2,850

= N H

01 M= dl 10,000 5,000 5,000
O= 32 X 7,000
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O=JtRI| |RFH 3,000
2,000
600
400

= HnH
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AN AHE =X
M MATNEASA(SWSSL/AY - ME)
Helr MdEISEI S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIX A S 4,450 1,950 2,500
OABI0I20HA WE(6Y) 1,500
= 1,500
OMETAZTAIE (1Y) 450
= 450
O=IIRIIHEE nF(5Y) 2,500
= 2,500
405 TtabF S 3,300 0 3,300
01 Hat U 2EH S 3.300 0 3,300
OQAUZAE (3CH) 2,400
OdE SZI1(1tH) 900
MR 1,323,660 920,780 402,880
= 661,830
< 198,547
Al 463,283
401 Al HIZ 2018 1,323,660 920,780 402,880
= 661,830
< 198,547
Al 463,283
01 A& HI 1,249,400 893, 326 356,074
O=2tRD| 1,249,400
— XX L el IR I1(630na) 911,360
= 455,680
< 136,702
Al 318,978
—MEESXLUH =It3RI](230ha) 338,040
= 169,020
< 50,706
Al 118,314
02 Zeltl 73,260 26,454 46,806
OZEX & &= ItRI|(630ha) 59,000
= 29,500
< 8,850
Al 20,650
OM&EE XS =It3I1(230ha) 14,260
= 7,130
< 2,139
Al 4,991
03 Al 2 0HHI 1,000 1,000 0
O=JtRJ| 1,000
= 500
< 150
Al 350
MEISAHE Y 2,044 2,584 A 540
= 1,022
< 306
Al 716




2N
X ZH -
L= B

el

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
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401 AIEHIZ 2 I

= N H

2,044
1,022
306
716

2,584

01 A& HI

OAsE &ty Z S & A4 (100ha)

= HmnH

2,044
2,044

1,022
306
716

2,584

540

= N[

445,714
312,000
66,857
66,857

458,609

A 12,895

401 AIEBIZ 20HEI

= N[

445,714
312,000
66,857
66,857

435,431

10,283

01 A€ HI

02 Zeldl

OLEAIE

= M

= N

435,714
435,714

435,714
305,000
65,357
65,357
10,000

10,000
7,000
1,500
1,500

424,431

10,000

11,283

= N

202,858

172,429
30,429

202,858

t

Al

24,000

20,400
3,600

24,000

= M

24,000

24,000

20,400
3,600

24,000

401 AIEHIZ 2

= M

178,858

162,029
26,829

178,858

01 A& dl

H

Al

172,858
172,858

129,000

109,650
19,350

172,858
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L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— A& 8 4(9.7km) 43,858
< 37,279
Al 6,579
02 Zeltl 5,000 0 5,000
OYZAIE 5,000
= 4,250
Al 750
03 Al 2 THHI 1,000 0 1,000
OYdZAlA 1,000
= 850
Al 150
AR 22| 299,000 272,000 27,000
201 Let2d] 24,000 22,000 2,000
01 At 22l 22,000 20,000 2,000
Oogxz 22,000
— 4% L ALAEH oI &E Ul A4 22,000
02 2324l 2,000 2,000 0
OgEesA&el K= 2,000
401 AIEHI L 2CHEI 275,000 250,000 25,000
01 A& Hl 275,000 250,000 25,000
OLERXNEX=(EHINS) 275,000
AEARER Ol & 124,550 117,168 7,382
201 ¢er24l 840 840 0
01 At 22l 840 840 0
Osd+g 840
— MAEHFI XIS NBSARE ALY
70,000 x6H »23] 840
308 XXM SOIA 114,470 116,328 A 1,858
07 IXNSHH UL = 114,470 116,328 A 1,858
OAre 114,470
401 AIEHI L 2CHEI 9,240 0 9,240
01 A& Hl 9,240 0 9,240
OA4LALEY &4d XD AEBZA 293
770,000%120H 2 9,240
At THOH 2 kel SOl (AARER O 2 X1 & &) 56,652 52,548 4,104
= 21,461
< 9,657
Al 25,534
101 @124 dl 56,652 52,548 4,104
= 21,461
= 9,657
Al 25,534
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B MUNASY(SHHYEL/LY - ME)
el MEFAYIIEES (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
04 JI2ZtHIZ2 2 NEES 56,652 52,548 4,104
OAFAFEN & &0yl 2 54,052
= 20,421
o= 9,190
Al 24 441
OKIAIEIE E S 222 4 oM EgqF S 2,600
= 1,040
& 467
Al 1,093
Netel & AR A 340,000 340,000 0
401 AIEHI 2 201 Y| 340,000 340,000 0
01 Al&H| 340,000 340,000 0
oY 484 I3 340,000
— S NG ER 160,000
— AMXE SN =2 180,000
A2 UM AL 52,000 45,000 7,000
201 LBt ]| 7,000 5,000 2,000
01 AF2 22| H| 7,000 5,000 2,000
Ogbt4=24| 7,000
— A2y HARES HES 7,000
206 M EH| 45,000 40,000 5,000
01 XHZ Hl 45,000 40,000 5,000
oxga= 45,000
SSEXN LR2AD] 20,000 18,000 2,000
402 SI2FXHE0| & 20,000 18,000 2,000
01 BIZtRIEANYE X (KM TH ) 20,000 18,000 2,000
ORFEXN LUFAD 20,000
SHHS SEHx 500 0 500
= 500
202 o4 | 500 0 500
= 500
01 2L Y| 500 0 500
O=2MHMSE SEH=x 500
= 500
OMSXNHZ =13 D] 813,600 0 813,600
= 406,800
& 122,040
Al 284,760
401 AlEHIZL 201 Y| 813,600 0 813,600
= 406,800
o=t 122,040
Al 284,760
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